PART LIST/ LISTE DES PIECES / LISTA DE PIEZAS
ITEM NO. / ARTICLE NO. / ARTICULO NO : DS-D015-250-432A / DS-D015-250-433A / DS-D015-250-372A / DS-D015-250-373A

DESCRIPTION / LA DESCRIPTION / DESCRIPCION : 4/6-5/0 UPH HEADBOARD - LINEN / LIT DOUBLE / REINE DE LIT CAPITONNEE / CABECERO COMPLETA / REINA CABECERA TAPIZADA
4/6-5/0 UPH HEADBOARD - BEIGE / LIT DOUBLE / REINE DE LIT CAPITONNEE / CABECERO COMPLETA / REINA CABECERA TAPIZADA
4/6-5/0 UPH HEADBOARD - ASH / LIT DOUBLE / REINE DE LIT CAPITONNEE / CABECERO COMPLETA / REINA CABECERA TAPIZADA
4/6-5/0 UPH HEADBOARD - TAUPE / LIT DOUBLE / REINE DE LIT CAPITONNEE / CABECERO COMPLETA / REINA CABECERA TAPIZADA

=]
® 3) €2

x1 Headboard x1 Headboard legs (L) ¥ x1 Headboard legs (R)

x1 Téte de lit x1 Pattes De La Téte De Lit x1 Pattes De La Téte De Lit

x1 Panel de la cabecera x1 Patas De Cabecera x1 Patas De Cabecera
@)-»)mm)»)m»» @

x8 Allen bolt M6 X 50mm * x8 Spring washer M6 * x8 Flat washer M6 *

x8 Vis a téte creuse hexagonale x8 Rondelle a ressort M6 x8 Rondelle plate M6

M6 X 50mm x8 Arandela auto-bloqueante M6 x8 Arandela plana M6

x8 Perno Allen M6 X 50mm

x1 Allen Wrench M4 X 65mm
x1 Clé hexagonale M4 X 65mm
x1 Llave Allen M4 X 65mm

*

* Replaceable Part

Made in Malaysia / Fabriqué en Malaisie / Hecho en Malasia

Page 1 of 3 Residential Use Only
For assembly instruction video, please go to : www.myfurnitureinstructions.com



ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE

ITEM NO. / ARTICLE NO. / ARTICULO NO : DS-D015-250-432A / DS-D015-250-433A / DS-D015-250-372A / DS-D015-250-373A

DESCRIPTION / LA DESCRIPTION / DESCRIPCION : 4/6-5/0 UPH HEADBOARD - LINEN / LIT DOUBLE / REINE DE LIT CAPITONNEE / CABECERO COMPLETA / REINA CABECERA TAPIZADA
4/6-5/0 UPH HEADBOARD - BEIGE / LIT DOUBLE / REINE DE LIT CAPITONNEE / CABECERO COMPLETA / REINA CABECERA TAPIZADA
4/6-5/0 UPH HEADBOARD - ASH / LIT DOUBLE / REINE DE LIT CAPITONNEE / CABECERO COMPLETA / REINA CABECERA TAPIZADA
4/6-5/0 UPH HEADBOARD - TAUPE / LIT DOUBLE / REINE DE LIT CAPITONNEE / CABECERO COMPLETA / REINA CABECERA TAPIZADA

HEADBOARD BACK VIEW
VUE ARRIERE DE LA TETE DE LIT R
VISTA POSTERIOR DE LA CABECERA

Take out the
legs and hardware

LEG POSITION
POSITION DES JAMBES

POSICION DE LA PIERNA

Page 2 of 3 Residential Use Only Made in Malaysia / Fabriqué en Malaisie / Hecho en Malasia
For assembly instruction video, please go to : www.myfurnitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE /| PARTE REEMPLAZABLE

ITEM NO. / ARTICLE NO. / ARTICULO NO : DS-D015-250-432A / DS-D015-250-433A / DS-D015-250-372A / DS-D015-250-373A

DESCRIPTION / LA DESCRIPTION / DESCRIPCION : 4/6-5/0 UPH HEADBOARD - LINEN / LIT DOUBLE / REINE DE LIT CAPITONNEE / CABECERO COMPLETA / REINA CABECERA TAPIZADA
4/6-5/0 UPH HEADBOARD - BEIGE / LIT DOUBLE / REINE DE LIT CAPITONNEE / CABECERO COMPLETA / REINA CABECERA TAPIZADA
4/6-5/0 UPH HEADBOARD - ASH / LIT DOUBLE / REINE DE LIT CAPITONNEE / CABECERO COMPLETA / REINA CABECERA TAPIZADA
4/6-5/0 UPH HEADBOARD - TAUPE / LIT DOUBLE / REINE DE LIT CAPITONNEE / CABECERO COMPLETA / REINA CABECERA TAPIZADA

() €2

x1 RD015-250-LEGL - Headboard legs (L) * x1 RD015-250-LEGR - Headboard legs (R) ¥
Pattes de téte de lit Pattes de téte de lit
Patas de la cabecera Patas de la cabecera
@)-)))))))))»)N)H)))

©
©

x1 RD015-250-HWKIT - Hardware kit list *
Liste des pieces de quincaillerie
Lista del kit de materiales

* Replaceable Part

Made in Malaysia / Fabriqué en Malaisie / Hecho en Malasia

Page 3 of 3 Residential Use Only
For assembly instruction video, please go to : www.myfurnitureinstructions.com



